5.. | #1

WOODBURY COUNTY BOARD OF SUPERVISORS AGENDA ITEM(S) REQUEST FORM

Date:	9/2/2020	Weekly Agend	a Date: 9/8/2020						
	TED OFFICIAL / DEPA		/ CITIZEN: Gary Brown, D	Director	of Emergency Services				
Em	Emergency Services is requesting approval to purchase new turnout gear.								
	ACTION REQUIRED:								
Д	Approve Ordinance □		Approve Resolution □		Approve Motion 🗹				
F	Public Hearing		Other: Informational		Attachments 🗹				
	JTIVE SUMMARY:								
Emergen	cy Services is requ	uesting appr	oval to purchase new to	urnou	ıt gear.				
BACK	GROUND:								
Emergency Services was granted approval to begin the process to purchase new turnout gear to be compliant with the insurance work comp guidelines. Emergency Services received three quotes that included ten sets of turnout gear (coat, pants, suspenders, boots, hoods, helmets, gloves) and two racks for gear. Danko \$28,573.00, Heiman \$23,698.90 and MES \$22,830.00									
FINAN	CIAL IMPACT:								
The cost	to purchase new to	urnout gear f	rom MES is \$22,830.00	0.					
IF THERE IS A CONTRACT INVOLVED IN THE AGENDA ITEM, HAS THE CONTRACT BEEN SUBMITTED AT LEAST ONE WEEK PRIOR AND ANSWERED WITH A REVIEW BY THE COUNTY ATTORNEY'S OFFICE?									
Yes	□ No ☑								
RECOI	MMENDATION:								
Woodbury County Emergency Services recommends the Woodbury County Board of Supervisors grant approval to purchase ten sets of new turnout gear and two racks from MES for \$22,830.00									
ACTIO	N REQUIRED / PROPO	OSED MOTION:							

The Woodbury County Board of Supervisors make the motion to approve Woodbury County Emergency

Services to purchase ten sets of new turnout gear and two racks from MES for \$22,830.00.

Approved by Board of Supervisors April 5, 2016.



Danko Emergency Equipment

PO Box 218 302 E 4th Street Snyder, NE 68664-0218 USA Phone: 402-568-2200 sales@danko.net

www.danko.net

Quote No: 22347

Monday, August 24, 2020

Page 1 of 1

Account Address:

Attention:

WOODBURY COUNTY EMERGENCY SVC

121 DEER RUN TRAIL CLIMBING HILL, IA 51015 Shipping Address:

WOODBURY COUNTY EMERGENCY!

121 DEER RUN TRAIL

CLIMBING HILL, IA 51015

Ship Via	Shipping Terms	Prices are Valid Until	
BEST WAY	Prepay and Add	Wednesday, September 23, 2020	

Line #	Part ID:	Description	Qty	Price	Extended
1	FID	FIRE DEX-FXR TOURNOUT COAT TO SPEC.	10.00	1,270.00	12,700.00
2	FID	FIRE DEX-FXR PANT TO SPEC	10.00	855.00	8,550.00
3	FIDG2LXL	G2L GAUNTLET GLOVE X-LARGE	10.00	89.00	890.00
4	BLK9451-10.5W	BOOT RUBBER 16" LUG NOMEX/KEVLAR 10.5 WIDE	10.00	140.00	1,400.00
5	BULLTX-L/Y	BULLARD HELMET LTX THERMOPLASTIC LIME/YELLOW, FACESHIELD, L/Y TRIM	10.00	185.00	1,850.00
6	PGI3048085	HOOD, NOMEX ULTIMATE	10.00	28.50	285.00
7	GRR	GROVES INC. READY RACK	2.00	1,449.00	2,898.00
		Contact			

Contact

Salesperson: Hayden Boeke

Contact Phone:

Email: hayden@danko.net

Sub Total

\$28,573.00

Tax

\$0.00

Total Price **\$28,573.00**

WORK ORDER

Hounan SINCE 1947 Date 8-25-20 ☐ Invoice ☐ Order ☐ Quote ☐ Credit/Return ☐ Other Heiman Fire Equipment | Federal ID # 42-0955663 SALESMAN 2320 NW Blvd. Ashton, IA 51232 Name: ROB IMHOFF 066 Ph. 712.724.6212 | 1.800.831.8547 Ph. 712-898-4322 E-mail: Robimhoff@heimanfire.com Fax. 712.724.6474 | www.heimanfire.com CUSTOMER SHIP TO same as CUSTOMER Name Woodbury County Emergency Services Name Address____ Address City _____ State Zip __ State ____ Zip ____ City ____ Ph. _____ E-mail Gbrown@woodburycountyi Contact Name Gary Brown Contact Ph. Customer # _____ PO# Commercial Residential **Qty Order** Qty Ship Part Number Description **Total Amount** Price 10 Fire-Dex FXM Turnout Gear, \$15,542.60 \$1,554.26 Coat, Pant & Suspenders. \$0.00 10 3702-807-6000 Hellfire Insulated Rubber Boots. \$1,439.50 \$143.95 10 Nomex High Temp Hoods. 1154-200-K288 \$22.95 \$229.50 10 1158-FCP5000 Firecraft Phoenix Gloves. \$84.95 \$849.50 \$0.00 2 1693-RMDS-6/20 Mobile Red Rack, Double Sided. \$1,664.40 \$3,328.80 \$0.00 \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 Estimated Shipping \$300.00 \$ \$0.00 \$ 0.00 Subtotal \$ 21,389.90 Shipping & handling 0. C Tax rate ___% Tax 21,389.900 + Credit 2,309.000 + TOTAL \$

23,698.900 *

WORK ORDER

Herman SINCE 1947 Date 8-31-20 ☐ Invoice ☐ Order ☐ Quote ☐ Credit/Return ☐ Other Heiman Fire Equipment | Federal ID # 42-0955663 SALESMAN 2320 NW Blvd. Ashton, IA 51232 Name: ROB IMHOFF 066 Ph. 712.724.6212 | 1.800.831.8547 Ph. 712-898-4322 E-mail: Robimhoff@heimanfire.com Fax. 712.724.6474 I www.heimanfire.com CUSTOMER SHIP TO same as CUSTOMER Name Woodbury County Emergency Services Name ____ Address ____ City _____ State ____ Zip ____ City _____ State ___ Zip ___ Ph. _____ E-mail ____ Contact Name_____ Contact Ph. Customer# _____PO# __ Commercial Residential **Qty Order** Qty Ship | Part Number Description Price **Total Amount** 10 Pac F-20 100% Nomex Hood (WHITE) \$309.50 \$30.95 10 1240-LTX Bullard LTX Helmet w/ 4" Faceshield \$199.95 \$1,999.50 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$0.00 \$ \$ 0.00 Subtotal \$ 2.309.00 Shipping & handling Tax rate ___% Tax Credit

TOTAL \$



124 East First Street Deer Creek, IL 61733

Quote

 Date
 06/11/2020

 Quote #
 QT1376038

 Expires
 10/31/2020

 Sales Rep
 Butler, Thomas

PO# none

Shipping Method FedEx Ground

Bill To
WOODBURY COUNTY EMERGENCY SVC
121 DEER RUN TRAIL
CLIMBING HILL IA 51015
United States

Ship To

WOODBURY COUNTY EMERGENCY SVC 121 DEER RUN TRAIL CLIMBING HILL IA 51015 United States

Item	Alt. Item #	Units	Description	QTY	Unit Sales Pri	Amount
699-9451-10-Wide			BOOT RUBBER 16 inch NFPA KEVLAR/NOMEX	10	141.00	1,410.00
PAC-F20-Nomex-W hite			PAC F20 Style Hood in 100% Nomex	10	25.00	250.00
X2-G-XL			X2 Certified NFPA 1971-2018 Edition Structural Glove - Gauntlet Cuff	10	69.50	695.00
LTX-Lime-Yellow			Thermoplastic structural fire helmet with faceshield Lime-Yellow	10	186.00	1,860.00
FXR-Custom Turnout-Coat	FWID 112302		FWID 112302 Custom FXR Turnout Coat Fire Dex FXR Jacket to Woodbury Co ES Spec	10	935.50	9,355.00
FXR-Custom Turnout-Pant	FWID 112302		FWID 112302 Custom FXR Turnout Pant Fire Dex FXR Pant to Woodbury Co ES Spec	10	619.00	6,190.00
RMDS-6/20			Red Rack Mobile Double Sided Six Compartment 20" Wide RED	2	1,535.00	3,070.00

 Subtotal
 22,830.00

 Shipping Cost (FedEx Ground)
 0.00

 Total
 \$22,830.00

This Quotation is subject to any applicable sales tax and shipping & handling charges that may apply. Tax and shipping charges are considered estimated and will be recalculated at the time of shipment to ensure they take into account the most current local tax information.

All returns must be processed within 30 days of receipt and require a return authorization number and are subject to a restocking fee.

Custom orders are not returnable. Effective tax rate will be applicable at the time of invoice.

